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$50 amount of money raised.
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Given a line passes through each pair of Is each line horizontal, vertical, or
neither?

1. (-7,8)and (8, 1) Neither
2. (3,6)and (3, -6) Vertical

3. (-11,23)and (-11, 7) Vertical

53200 What would have to be true for
2 the Rate of Change to be
$$150
o
S 3
2$100 -
=% 4
The scale on the two axes
$50 MUST BE THE SAME
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A line has a slope of@. If the line passes through the two

points below what is the value of X~

(x,1) and (-2,7)

7-\ _ L 3
BLOQQ = K Zex =
L/—\/M

This is a proportion. Solve by cross multiplying
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A line has a slope of 5 - If the line passes through the two Graph a line that has a slope of -3 and contains the point (2, -5)
points below what is the value of x? ’ v : First
b \[" Plot the point (2,-5)
(x,1) and (-2,7) T ! Second
i \\ - > 2 Then use the slope to find other points
< 1 - - _ 3_-3_ Rise 0f-3=3downor3up
IR - slslhla [ [\ x SOPE=-S = =pinof1  1right  1left
\
A = \
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Graph a line that has a slope of? and contains the point (3, 5) To graph a line the minimum information you need is
)
A\
/ First
s Plot the point (3, 5)
® A point on the line and the slope
Second OR

Then use the slope to find other points « Tio points on thelline.
= slope = L Riseof 1 _1up 1 down
T ~ SOPe T 3 = Runof2 2rght” 2l




Equations for a Line

Aline has a slope of 5 and passes through
the point (-1, 4)

Write the equation of this line in Point-Slope Form.

y-y1=m(X-Xq)

/|

4 5 1

y -4 = 5(x- -1-)

y -4 =5(x+1)

‘ Sec 6-4 Point-Slope Form for the equation of a line.

Aline has a slope of m and passes through the point (x1, y1)

The equation of this line in Point-Slope Form is:

y-y1=m(X-Xq)
/ N

The y—coqrd Slope The x-coord
of any pomt of the from the same
on the line line point as the y-coord

@asses through the following two points:

3,-10) and (-1, -1 el =i

3,1 ( ) N\:u i
s} =i

Write the equation of this line in Point-Slope Form.

9
jﬂO: = %C% ~_ﬁ\ Using (3, -10)

BIEN
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9 4+ = T (Xjr \B Using (-1,-1)



ine passes h the following two points: Find slope first.
0,7)) and (-2,0) mw‘jdo _

o712
Write the equation of this line in Point-Slope Form.

2
547 = b o /éﬂ - x\\

Both equations are acceptable for an answer
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Write the equation of this line in Point-Slope Form First Find the slope
- ﬂ/
A ™
)
Pick a point on the line: ( 4, 3)
-
S Write the equation in Point-Slope Form
3
//‘ y-3=2/5x-4)
S o~
< i~
L] If you used the point (-1, 1) the
/‘/i equation would be:
L -1=2/5(x+1)
= Y
> -

Aline passea-hiuih the following two points:

(-5,8) and( (2, 8)

Write the equation of this line in Point-Slope Form.
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